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What is the Laplace transform of Jsin5z a, ,lit.;t,.li::t,.i;1,1,;:j;,'-'r .']..',.;..,1'1 -.
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Option A: t!o*l,to=0
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OptionC: l.to*uo=0
OptionD: l,lr-tt, =0
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Find Z-t

3s+4-=-
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OptionA: 4.sin4t + cos4/
OptionB: cos4/ + sin3r
Option C: 3.cos4t +sin4r
OptionD: sin3r + cos4/
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A 0 , u(5, t) = 0, u(x, 0) = xz (25 - x2 ) Assume h=l
u uP to t:3 ..,,;i'.-., r' :,','.-.. '
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AB -5A7 +7A6 -3As +Ao -5A3
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F Find Fourier exrantioni611{x)*,1?,vj6}qq$ig m,:.--- r-
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Determine transforming and
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of Six5 marks each

sinZt cos 3t dt
in the interval (-n, rc). Hence prove
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i*trrffi ic string stretched between the f,xed points (0, 0) and (1, 0)
in the position y:Asin ( zr) and released from rest. pind the
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Calculate eA and 5A

Find an analytic function/(z) whose 1S
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